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? → A : If A > 0 : Then A × 10 → A : IfEnd : Ans×1.05
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 A g

For~To~Next

For  → To
 ... Next

For 1  →  A To 10 : A 2   →  B : B  ̂  Next

For~To~Step~Next

For  → To Step
... Next

For 1  →  A To 10 Step 0.5 : A 2   →  B : B  ̂  Next

 A g

While~WhileEnd

While ... WhileEnd

?  →  A : While A < 10 : A 2   ̂  A+1  →  A : WhileEnd : A÷2

 A g

Break

.. : {Then ; Else ;  S } Break : ..

?  →  A : While A > 0 : If A > 2 : Then Break : IfEnd : WhileEnd : A ^
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 A

Deg, Rad, Gra

.. : Deg : ..
 .. : Rad : ..
 .. : Gra : ..

!,  (SETUP)b (Deg)
!,(SETUP)c(Rad)
!,(SETUP)d(Gra)

Fix

.. : Fix  { n} : ..  n
!, (SETUP) eb(Fix) a j

Sci

.. : Sci  { n } : ..  n
!,(SETUP)ec (Sci)a j

!, ec a

Norm

.. : Norm  {1 ; 2} : ..
!,(SETUP)ed(Norm)b c

FreqOn, FreqOff

.. : FreqOn : ..

.. : FreqOff : ..
!,(SETUP)db (FreqOn)
!,(SETUP)dc(FreqOff)
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 A

ClrMemory

.. : ClrMemory : ..
!j(CLR)b(Mem)

  →

ClrStat

.. : ClrStat : ..
!j(CLR)b(Stat)

 A

M+, M–

.. M+ .. .. M– ..
l !l(M–)

 A

Rnd(

.. Rnd(Ans ..
!a(Rnd)

 A

Dec, Hex, Bin, Oct

.. : Dec : .. .. : Hex : .. .. : Bin : .. .. : Oct : ..
x(DEC) M(HEX) l (BIN) I(OCT)

 A

DT

..  x ..  ..............

..  x ..  .............

..  x  y ..
 ............

..  x  y ..  ...........

!, ,
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l

l

A

• / , ↔ ↔
• !w ⇔
• !j d w

• !j c w

k

 •
•

Pol(, Rec(  ∫(, d/dx(, sin(, cos(, tan(, sin –1 (, cos –1 (, 
tan –1 (, sinh(, cosh(, tanh(, sinh –1 (, cosh –1 (, 

tanh –1 (, log(, ln(,  e ̂ (, 10^(, ' (,  3 ' (, arg(, Abs(, 
Conjg(, Not(, Neg(, Rnd(

 x  2 ,  x  3 ,  x  –1 ,  x !, ° ´ ˝, °,  r ,  g 

^(,  x ' (

%

 a  b /c 

–

m , n , m  1 , m  2 

 
π  e 2 π 5A  π A 2 i 
2' (3) Asin(30)

 n  r  n  r 
 ∠ 

×, ÷

+, −

=, ≠, >, <, > , <

and
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or, xor, xnor

 • – –
 x

-cxw – – (-c)xw –

•

π
π

π π

k

 A

sinx
cosx

DEG 0 < | x | < 9×109

RAD 0 < | x | < 157079632.7

GRA 0 < | x | < 1×1010

tanx

DEG | x | = (2n–1)×90  sinx
RAD | x | = (2n–1)×π/2  sinx
GRA | x | = (2n–1)×100  sinx

sin–1x
0 < | x | < 1

cos–1x
tan–1x 0 < | x | < 9.999999999×1099

sinhx
0 < | x | < 230.2585092

coshx

sinh–1x 0 < | x | < 4.999999999×1099

cosh–1x 1 < x < 4.999999999×1099

tanhx 0 < | x | < 9.999999999×1099

tanh–1x 0 < | x | < 9.999999999×10–1
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logx/lnx 0 < x < 9.999999999×1099

10x –9.999999999×1099 < x < 99.99999999

ex –9.999999999×1099 < x < 230.2585092

'x 0 < x < 1×10100

x2 | x | < 1×1050

1/x | x | < 1×10100 ; x G 0

3'x | x | < 1×10100

x! 0 < x < 69 (x )

nPr
0 < n < 1×1010 0 < r < n (n r )
1 < {n!/(n–r)!} < 1×10100

nCr
0 < n < 1×1010 0 < r < n (n r )
1 < n!/r! < 1×10100  1 < n!/(n–r)! < 1×10100

Pol(x, y)
| x |, | y | < 9.999999999×1099

  x2+y2 < 9.999999999×1099

Rec(r, θ)
0 < r < 9.999999999×1099

θ: sinx

°’ ”
| a |, b, c < 1×10100 
0 < b, c
| x | < 1×10100

 ↔ 
0°0´0˝ < | x | < 9999999°59´59˝

^(xy)

x > 0 –1×10100 < ylog x < 100
x = 0 y > 0
x < 0 y = n  

  m  
n  (m n )

: –1×10100 < ylog | x | < 100

x'y

y > 0 x G 0 –1×10100 < 1/x logy < 100
y = 0 x > 0
y < 0 x = 2n+1   

n
  m   (m G 0 m n )

: –1×10100 < 1/xlog | y | < 100

a b/c

 • ^  x y  x' y '  x  n  r  n  r
•

k

Mat h  ERROR
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 A

• d e

• A

 A

•
•
•

•
•

•
•

： tol



Ch-53

 n
  n

  n   n   n

k

1

2

3 p

4 3

!j c w

 A

1A
•

–

O19 3 w
•
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